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10] = {54 5 % 2 7.70 6.25 0.56 14 100 5 *Fv 2 7.21 4.69 1.25 2.3 1081 % % 1 3.85 1.49 4.96 18
Hig 2bL X g & F) 27 50.24 28.52 0.93 18.6 How 2t L g 5t F] 12 43.23 27.28 0.90 13.6 Hopozbt A g 5t F) 7 26.94 12.22 0.74 12.3
11)5% %% 4 7.44 4.99 1.09 2.8 11053 % % 2 7.21 3.72 1.38 2.3 112§ fodl @ 238 R 1 3.85 1.49 131 1.8
1212 f fe & 23 2 3.72 2.59 1.19 14 12| g fod » mig 1 3.60 3.16 1.11 1.1 12|z 1 3.85 1.12 1.42 1.8
13] # sEp 2 3.72 2.33 1.03 14 13| & o i 1 3.60 2.85 2.75 11
b 2 3.72 1.65 0.96 14 14| % 1 3.60 2.66 1.55 11
15)| % &% 2 3.72 1.55 5.03 14 15) =% 1 3.60 2.66 1.13 11
Moo LLF5 i RE S dR4LE P A vl 3253, 746+4  § 27,7574 A 1425,988¢4 -
2. {5 v 7 = & ( Standardized rate) % 22000 W.H.O, & % A v Ed 4 5 A o Tk ) L 7R 5= FRF MM SRR = &5 T ) 27 5= FAFF 5045 SR8 5= F(0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
4, TR KR LA AR FLE R Rt B R A vt




.
B3

$ot B o® T oM Ok R P 7]

% R100# (2011#)
& = g 1 “ B
3 * o R R &R R R R S R
» = RO A R » = RO gHAD FIR » = RO S AT FRAR
i (ICD-10% #f) A Hc =& o= & Fe= b % fhad (ICD-10% #f) (¥ =X R Fe= L % e (ICD-10% #f) A #c o= & =& Fe= %
T R > 32 187.49 127.68 098 .00.0 1 Rk 7 18 204.92 152.20 0.83 .00.0 4 R 7 %] 14 169.00 111.83 126 .00.0
LA e F) 27 158.19 109.49 1.19 84.4 Ry 16 182.15 136.90 1.06 88.9 L R T 14 169.00 111.83 1.83* .00.0
#2578k 7 41.01 25.74 0.95 21.9 IR NN R 4 45.54 33.83 0.77 22.2 V54~ 25 %% 3 36.21 21.59 1.38 21.4
2 PFfesEp o R 5 29.29 18.76 0.83 15.6 2|%% ~ LB o PR 4 45.54 33.52 2.22 22.2 215 % 2 24.14 15.53 2.88 14.3
3|45 - 2B i n 5 29.29 18.56 1.50 15.6 3 PR R E 4 45.54 31.81 0.96 22.2 Kl K S 2 24.14 15.07 5.72 14.3
TN E ¢ fRA 5k sl _
4 )% 5 R 2 24.14 15.07 5.72 6.3 417 i (% $+‘> 1 11.38 12.24 8593* 56 N ERCE ] 1 12.07 13.53 3.02 7.1
s IR (TR Y
515 % 3 17.58 10.96 181 9.4 51wk 1 11.38 10.63 0.37 5.6 5|7 A fodi e H R 1 12.07 11.73 8.07 7.1
LRI S+ L I * . .
6 o 2 Atk o) 1 5.86 6.29 89.25 3.1 6 |75k 1 11.38 7.81 4.22 5.6 6 |'edqod w ki R 1 12.07 9.08 5.43 7.1
TItwad &<k B 1 5.86 5.97 1.58 3.1 A AE:] 1 11.38 7.06 1.03 5.6 Tl&% ~ %o R 1 12.07 7.53 0.65 7.1
8| A foir o o 1 5.86 5.58 4.49 31 8 | 1 12.07 6.37 7.47 7.1
9 |- 1 5.86 5.58 0.36 31 9 s p 2 E 1 12.07 6.37 0.53 7.1
10] 7% 1 5.86 4.20 2.55 31 10]¥ s 1 12.07 5.02 4.17 7.1
Hoozbt A ) 5 29.29 18.18*-  0.50 15.6 Hipozbd & g F) 2 22.77 15.30*- 0.30 111 Hopozbt A g 5t F) 0 0.00 0.00 0.00 0.0
11 4ot & 225 1 5.86 4.20 2.38 3.1
1209 % % 1 5.86 3.42 1.96 3.1
Ik B 1 5.86 3.37 1.57 3.1

o3 LSRRG RESY A v i 17,0684 F 48,7844 448,284 4 o
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FH KR L ARTIIN S FLAA P IR E B R A Tt




K24 2 E/ 2. N K R - v
5 00 B OW OB X KR oR & < R
% ®100# (2011 )
& = g 1 “ B
L3 * R 7= ALy gEL i 7= E R 7= 1y R 2 7= E I 7= Ly R s 7=
= R ¥ A g/,,\ub = R O¥ gL —FT/,,\;L F o= R 9% LA 'p’/v\”

i (ICD-10%~ #8) A Hic i i Fe =Lk % | (ICD-10%4" #8) L i = & v = K Fv =k % | (ICD-10%4 #8) A #ic e F i Fe =k %

T R > 70 194.58 156.70 111 .00.0 1 Rk 7 53 286.89 253.99 131 .00.0 h R 7 17 97.14 71.82 0.77  .00.0

LA e F) 64 177.91 144.39*+ 1.36* 914 Ry 49 265.24 232.30*+ 151* 925 L R T 17 97.14 71.82 126 .00.0
1P#fesp 23 % 19 52.82 42.68 1.63 27.1 1|prfosmp 23 15 81.20 69.68 1.91* 283 115 % 5 28.57 17.82 3.64* 294
205 % ~ L5 E o R 10 27.80 23.76 0.71 14.3 VA B 8 43.30 37.16 1.54 15.1 2 P R 4 22.86 16.71 1.07 235
315 % 9 25.02 20.06*+ 2.85* 129 B i ¥ A F F ok 7 37.89 3291 0.74 13.2 B F ¥~ 2 FE Rk 3 17.14 14.81 0.69 17.6
41k 8 22.24 18.19 1.44 114 415 % 4 21.65 19.89 2.27 7.5 4%~ B R 2 11.43 8.79 0.65 11.8
S|t & <tk & 4 11.12 10.10 3.30 5.7 5|6 % 4 21.65 18.64 1.86 7.5 S5Ibr A &M B 1 5.71 5.70 152 5.9
6|am 4 11.12 9.14 1.78 5.7 6 |5 5% 3 16.24 15.02 291 5.7 6 |7 A fodi o SR 1 571 471 3.95 5.9
T &% - 25 4rm 4 11.12 8.04 0.63 5.7 Tlxet &k 5 3 16.24 14.19 5.41* 5.7 7157 #% 1 571 3.28 8.73 5.9
8 | % 3 8.34 6.05 1.67 4.3 8 | g fodl @ vaiE R 2 10.83 9.72 4.58 3.8
915 7 1% 1 5.71 3.28 8.73 14 Ol&% ~ & 5 foiz R 2 10.83 8.42 0.60 3.8
10} 4ot & 23 R 2 5.56 4.53 2.47 2.9 10055 = & 1 5.41 6.67 1.49 19

Hoi bl L o R 6 16.68 12.32*-  0.37* 8.6 How 2t L g 5t F] 4 21.65 21.69 0.50 7.5 Hoig 2t X R 5 F) 0 0.00 0.00 0.00 0.0
11)= PR Gl ) R 1 5.41 6.67 0.73 14 11]= ZEIE =T o 1 5.41 6.67 0.73 19
12| fedr o ok 1 2.78 2.26 2.25 14 12) %% 1 5.41 4.22 2.32 1.9
13)% o b & 3 ¥ 1 2.78 2.20 5.53 1.4 13 % fond & 5 F & 1 5.41 4.14 10.48 19
14193 % %, 1 2.78 2.00 1.04 14
15] 7% % 1 2.78 1.85 1.36 14
Mot LR R RE Y A vfie 3435,9744 9 4218,4744 4 417,501 % -

2. R R g5 T AR RE S FAE N R = % (a=0.05)
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4 ( Standardized rate) % 122000 # W.HO. & % A ¢ £ 8o g4 2 A8 o Dk ) £ 7{RE L 7= FAFF
3. &2 - 5+ = 1t ( Standard mortality ratio, SMR) - .
IR TECE

%
c= &4 ¥ F (a=0.05) ¢




g2 2 B 3= K R L 2
§5 0 B B B O KR om » = R 9
% ®100& (2011&)
2 > 7 B - B
g R 7= &g 1 %% r= e & R 5= ALy R 2 7= e R 7= FLy A 1% 7=
= R ¥ A g/,,\ub = R 7 gL ‘FT/\;L » = R 7 LA 'p’/v\”
[ (ICD-10% #f) A i Fe= % =K e % i (ICD-10% #f) (¥ 7= K = & Fv =L % | (ICD-10% #f) A = & Fe= % Fe =L %
54 e 7 99 20293 14857 104 .00.0 4 g 7 67 26280 21008 107 .00.0 st Ao ] 32 13734 89.05 097 .00.0
N 74 15169  108.26 102 747 L g 54 21188 16644 115 806 T g 29 12446 8154+  160* 90.6
i tiasmn | 26 53.30 35.40 120 263 |1|i# - tiugemn | 20 78.47 5700 132 2909 |1|uw . 2w 7 30.04 20.76 152 219
2| igqoerg | 12 24.60 17.52 123 121 |2 |seqesep i g 9 35.31 2857 075 134 |2|5# ot 5 asenn 6 25.75 1553 093 188
3 [seqormp 5 4 9 18.45 1429%  051* 91 |3|-ws 8 31.39 2704 105 119 |3|:i® 4 17.17 10.85 191 125
4| en 8 16.40 14.19 100 81 |4aluw . imqoems 5 19.62 1525 097 75 |4|maomenn 2 8.58 725 564 63
5|5 % 5 10.25 6.50 102 51 |slegw 4 15.69 1222 124 60 |5 |ews 2 8.58 7.22 177 63
6 | i 2 8.58 3.62 197 20 |el|um 2 7.85 719 289 30 |6[|wfqene g 2 8.58 624 365 63
7|sw 5 4 8.20 6.59 122 40 |7|es2mpeneann]| 2 7.85 618 1062 30 |7|vmum 2 8.58 5.88 18.78* 63
8 | A1 G OB 2 7.85 562 087 20 |8lesipcEmin 2 7.85 562 087 30 |s8|wim 2 8.58 3.62 197 63
9 | 3 6.15 472 263 30 |9 ;”ﬁ VARG 3.92 418 896 15 |9lum 1 429 209 225 31
10|55 3 6.15 472 110 30 |10|5ss 1 3.92 3.17 145 15 |10 fg ;*"" ARy 4.29 2.09 072 31
Hussigarm | 25 51.25 40.31 108 253 gustagarn | 13 51.01 4365 084 194 A T 3 12.88 751%  020% 9.4
1|z s #agere iw| 3 6.15 414 7210 30 |u)reszamen 1 3.92 286 115 15 |u|eprsa 1 429 209% 034 31
12 ;;}V el I 429 2.09 072 10 |12|s i 1 3.92 286 087 15 |w2lzsampereanm| 1 429 153 436 3.1
13|+ s s 5 1 4.29 200« 034 10 |13|5= 1 3.92 286 075 15
18] g o 2 410 356 311 20 |u4ls % 1 3.92 264* 036 15
18] 7 iy 2 410 315 698 20 |15|ews 1 3.92 244 062 15
W af 14 BAREOmE ? A v B 3548, 7854 7 1225 486 4 223, 300 £
2. {5 v 7 = & ( Standardized rate) % 22000 W.H.O, & % A v Ed 4 5 A o Tk ) L 7R 5= FRF MM SRR = &5 T ) 27 5= FAFF 5045 SR8 5= F(0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
4, TR KR LA AR FLE R Rt B R A vt




E 2 B ’ N R 7L 2
§5 B4 ko B R & < R 7
% R100# (2011#)
£ = 7 1 ~ 1
g R 7= S ) R i B L B E e St ¥ i 2 = B I = Ly g ¥ i
;= R O7 L R ;= R OF gL FIR » = R O7 LA FRAR
i (ICD-10% #f) A Hc =& o= & Fe= b % fhad (ICD-10% #f) (¥ =X B Fe= L % e (ICD-10% #f) A #c o= & =& Fe= %
“h R~ 69 176.03 128.55 0.95 .00.0 3 R 7 47 231.58 184.02 1.00 .00.0 T R F) 22 116.39 77.78 0.88 .00.0
Y T 58 147.97 108.13 1.05 84.1 LA B 44 216.80 171.83 1.18 93.6 LA B ) 21 111.10 72.05 1.18 95.5
1 P#fermp 25 % 19 48.47 33.20 1.43 275 i P AN 11 54.20 45.24 0.99 23.4 1efermp 28 % 8 42.32 27.22 1.89 36.4
2|5 F A F IR 15 38.27 27.73 0.93 21.7 2 PH{esFp o R 11 54.20 39.64 1.21 23.4 2|58 A FE R 4 21.16 13.63 0.82 18.2
3| nm 6 15.31 12.06 0.96 8.7 3| R 6 29.56 22,51 1.00 12.8 K BT Ly 2 10.58 7.81 2.70 9.1
46w 5 12.76 10.43 1.96 7.2 A EEE A 5 24.64 20.01 2.00 10.6 4 1% fob & 5k R 1 5.29 4.83 11.17 45
51%% - 8% 4 10.20 6.03*- 054 5.8 5|e% ~ 25 4orm 3 14.78 10.54 0.77 6.4 5|4 i % 1 5.29 422 1.30 45
65 & m 3 7.65 5.68 2.12 4.3 6] % 2 9.85 10.09 0.96 4.3 ) EX RS 1 5.29 4.10 0.43 4.5
7| i % 1 5.29 4.22 1.30 14 U EER 2 9.85 8.60 2.29 4.3 755 m 1 5.29 2.71 3.32 4.5
l BEEEAEE 1 5.29 4.10 0.43 14 8 & e 2 9.85 7.11 1.64 4.3 Bl irt e 1 5.29 2.71 2.40 4.5
915 % 2 5.10 5.28 0.55 29 97 e ri 1 4.93 4.04 7.31 2.1 9|5 & 1 5.29 2.44 1.85 45
10| 4 & <= 7 2 5.10 3.90 1.44 29 |10) %% 1 4.93 4.04 1.92 21 |10} ~ & Ao 1 5.29 2.37*-  0.29 4.5
Hig 2bL X g & F) 11 28.06 20.42*- 0.64 15.9 How 2t L g 5t F] 3 14.78 12.20*- 0.31* 6.4 How 2t X g 7 F] 1 5.29 5.73*- 0.14* 45
115 5% 2 5.10 2.98 0.97 29 |11)5 F% 1 4.93 3.42 0.95 2.1
120 % fobd & 8 % B 1 2.55 2.40 5.05 14
13 = e o 1 2.55 1.90 4.64 1.4
14|\ &% % 1 2.55 1.90 1.15 14
15|72 § fo 8 23 1 2.55 151 1.08 1.4
oL R A R RE Y A v fie 339,198+ §4420,2954 4 4418,902+% -
2. 3 i+ 7= 5 ( Standardized rate) %2 2000 8 WH.O. & % A v #de g 5 A% o Tk | LR 5= FAEFEONIMEER 5= 50 Tk 27 4RE 0 = FREFF 0, BHRE 5= 5 (0=0.05)
3. #&# i 5+ = 1t ( Standard mortality ratio, SMR) o &M it v = b= w2 die / WY = Beo XA T B M2 53 BEE R R (0=0.05) -
4, FAL IR A AR TIIN FLA A 0 R IR E B R A T




00 B OHE M B om o~ < R 9

3 R100& (2011#)
z =T 9 e % 1
% P P= Et§  BEC BE 5o |7 — 7= Ai§  BEC BEF - % — Fe F1§  REC RE -
» = RO A R » = RO gHAD FIR » = RO S AT FRAR
i (ICD-10%~ #f) A B i v K Fv =l % | (ICD-10% #g) A B 7= & = F Fv =l % | (ICD-104 #f) A B v K = Fv =t %
54 e 7 80 17347 13156 095 .00.0 4 g 7 50 24850 19984  1.05 .00.0 st Ao ] 21 9385 6518 073  .00.0
g 66 14311 10878 105 825 S ] 53 22323 18030 115  89.8 S e ] 20 89.39 6185 086 952
is-tisfmn | 17 3686 2813 091 213 |1|i# - tisqerm | 14 5897 4801 106 237 |1l|uw . zmiears 5 2235 1554 127 238
2 [seqermp 5 5 16 34.69 2651 103 200 |2|sqespomig 12 50.54 4233 111 203 | 2|sgesen i 4 1788 1268 084 190
3|c e 12 2602 2000 159 150 |3|- 12 50.54 3086 168 203 |3|i# - ti#term 3 1341 908 054 143
4w i gqoemg | 10 21.68 1674 117 125 |4|es i gienma 5 21.06 1748 108 85 4;;§‘%&*mﬁ; 2 8.94 425 156 95
FEFFEIMEAP T F .
5[5 5 2 8.94 425 156 25 |s5l|eww 2 8.42 674 068 34 |5|eim 1 4.47 367 109 48
6 | A1 G OB 2 8.42 661 102 25 |6|snsncmmEsn 2 8.42 661 102 34 |6|sma 1 4.47 333 310 48
7|5 % 3 6.51 458 071 38 |7]|sem 2 8.42 656 160 34 |7|meizimem 1 4.47 333 115 48
8| 5 1 4.47 367 109 13 |s]|iw 2 8.42 609 081 34 |8|wus 1 4.47 333 102 48
9|« s s 1 4.47 333~ 035 13 |o|s=s 1 421 350 107 17 |9li# 1 4.47 333 056 48
10|53 5 % 2 434 341 159 25 |10|mgqen i 1 421 311 165 17 |10]% g g 1 4.47 333* 035 48
Huatigern | 14 3036 22.78* 064 175 A & g B 6 2527 1954 060 102 A g ) 1 4.47 333* 018 48
1] s 2 434 339 066 25 |1fexsssp 1 421 303 3197 17
12| 5 e 2 434 325 132 25 |12|seazamem 1 421 303 131 17
13| 4 2o B 2 434 315 123 25
14| 5 1 2.17 170 042 13
15| 2 &g 1 2.17 145 3374 13

S GLc L) BATCHLRE ® A v B 3546, 1174 § 1923, 7424 - 222,375 4 -
2. &2 i+ 5= 5 ( Standardized rate) % 122000 F WH.O. & % 4 v #d g 2 A o Tx- | 2GR 7= FHFEOIH L RHEREL = 5 Tk ) 2780 5= FRFF 0 BHEE 57 = 5 (0=0.05)
3. &3 it 5+ = 1L ( Standard mortality ratio, SMR) o it 5= wb=F w2 g / WS B XA FHG RS K3 EE B (0=0.05) o
4. FH KR L ARTIIN S FLAA P IR E B R A Tt




g2 2 B - K R L 2
5 v B S B X B R O - R T
% ®100# (2011 )
& i 3 e - e
3 B R R &R R R R R
» 2 RO L B A » = R OF) U e oA » 2 R OH AT oA

[ (ICD-10%4 #8) A #ic = & v & vt % |- (ICD-104 #8) A ik =& = K et % | (ICD-104 #f) A s & s & ) %

T R > 76 307.17 185.68*+ 1.26  .00.0 1 Rk 7 56 426.41 274.81*+  1.36* .00.0 h R 7 20 172.28 86.04 099 .00.0

Ry ] 63 254.63 158.17*+  1.35* 829 L AR 7 F) 47 357.88 236.02*+  1.38* 83.9 LA B ) 20 172.28 86.04 137 .00.0
1 P#fermp 25 % 21 84.88 51.45%+  1.90* 27.6 1 pefermp 28 % 13 98.99 63.09 1.68 23.2 1efermp 28 % 8 68.91 37.08 2.26 40.0
2|5 % ~AFE R 13 52.54 25.81 0.92 17.1 2|5 % A FE R 10 76.14 40.30 0.96 17.9 A ER RS 3 25.84 19.62 1.86 15.0
3| - em 8 32.33 27.28 1.70 10.5 3| - e 8 60.92 50.73 1.72 14.3 3lig A FE R 3 25.84 11.68 0.75 15.0
N B 3 25.84 19.62 1.86 3.9 415 & 3 22.84 18.36 4.34 5.4 4 s 2 17.23 4.96 7.64 10.0
5 | 4 16.17 7.83 4.02* 5.3 5|leg® 3 22.84 14.12 1.49 5.4 5145 « & g foirr 1 8.61 4.41 0.34 5.0
6 | SR (R ) e 2 15.23 12.81 1.22 2.6 6 | # A CHst ) 2 15.23 12.81 1.22 3.6 6 | 1 8.61 3.33 4.06 5.0
RS 3 12.13 10.43 2.70 3.9 7|8 FvE 2 15.23 10.51 2.53 3.6 715 % 1 8.61 2.68 0.75 5.0
8leg® 3 12.13 7.56 1.52 3.9 8 |4 2 15.23 9.13 2.66 3.6 8 |'=%% 1 8.61 2.28 1.46 5.0
Sl EX AN F UYL - 3 12.13 6.68 0.47 3.9 9l ~ 2B 2 15.23 8.71 0.58 3.6
105 % 3 12.13 5.68 0.93 3.9 |10]3 &% 2 15.23 8.26 1.04 3.6

His 2bl L g 5 13 52.54 27.52 0.96 171 Hiw 2t L sy 9 68.53 38.78 1.28 16.1 A g 7 F 0 0.00 0.00 0.00 0.0
11 # Fvi 2 8.08 5.82 2.18 26 |1l &= B 2 15.23 7.41 3.42 3.6
12|20 4 & = 2 8.08 3.61 1.72 2.6 12| = r‘k"’j‘dﬁ'\? 1 7.61 6.40 8.69 18
13 = e o 1 4.04 3.28 5.58 1.3 |13 g o s © v & 1 7.61 4.14 2.19 1.8
14)2a 4 fr 8 @ v2iE B 1 4.04 2.13 1.26 1.3 141 % fobd & 40t B 1 7.61 3.27 10.15 18
15) % 7% 1 4.04 1.73 1.49 1.3
L F R HRE P A v e 3124, 7424 413,133+ & 11,6094 -

L.
2. {5 v 5+ = 5 ( Standardized rate) % 1 2000F W.H.O. & % A v Zde 4 2 A o Tk | L R0 7= FREFEN M EEEM = 50 T ) 2580 7= FAEFF 0 FHEE 5= 5 (0=0.05)
3. & & i 5+ = ( Standard mortalltyratlo SMR) o it = it=5=fic / PHF 7= P *ETEF R F5 8F 2 F (0=0.05) -
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K24 2 g/ ) R R - v
5 0t B A WO R ox o < R 9
% ®100# (20118)
& 3+ 7 1 * [
Mg B IR 5= et 1 1 i3 B B R Eala £y R 2 = e e I 7= FLy 1R 1% Eal
= R ¥ A g/,,\ub = R O¥ gL —FT/,,\;L F o= R 9% LA 'p’/v\”

i (ICD-10%~ #8) A Hic i i Fe =Lk % | (ICD-10%4" #8) L i = & v = K Fv =k % | (ICD-10%4 #8) A #ic e F i Fe =k %

54 e 7 72 19691  147.83 102 000 4 g 7 49 25716 20327 106 000 st Ao ] 23 13135 97.43 095  .00.0

S 64 17503  128.78 126 889 L g ] 43 22567 17892 125 878 T g 23 13135 97.43 142 000
i tissemn | 18 49.23 33.06 114 250 |1fiw-tisqeen | 13 68.23 48.12 119 265 |1)iw i 5 28.56 22.40 105 217
2 [seqermp 5 5 17 46.49 32.14 131 236 |2 |wqesep ig 12 62.98 48.40 135 245 |2|am i gqenmn 5 28.56 18.42 151 217
3lan  syoemg | 10 27.35 20.56 141 139 |3)ew - imqoern 5 26.24 22.64 131 102 |3 |seqesep i 5 28.56 14.94 122 217
4 ; ;‘*ﬁ?‘ AP 3 17.13 15.36 283 42 |4]csm 4 20.99 15.00 069 82 |4 ; ;‘“’U‘ BEARAEL g 17.13 15.36 283 130
5 |4 1o (At O 3 15.74 13.36 184 42 |5|espcErm 3 15.74 13.36 184 61 |5]|ian 2 11.42 13.86 395 87
6|0 sem 4 10.94 7.41 065 56 |6|awrscmeon 2 10.50 7.27 316 41 |6|s=m 2 11.42 6.74 9.34* 87
7|5 i 3 8.20 9.1 222 42 |7|ww 1 5.25 10.14 197 20 |7|cpsrswm 1 5.71 5.69 044 43
8 |a 3 8.20 578 246 42 |8|ian 1 5.25 5.75 117 20
ol prsn 1 571 5.60 044 14 |ols=m 1 5.25 4.46 099 20
10|20 4 & <= 2 5.47 352 147 28 |10]ew 1 5.25 3.78 275 20

Hoozbt A ) 8 21.88 19.05*- 041* 111 Ho bt & R v F 6 31.49 24.35* 0.52 12.2 Hoig 2t X R 5 F) 0 0.00 0.00 0.00 0.0
11k 1 2.73 5.41 120 14 |11fm s erenn 1 5.25 373 475 20
12| i e o 1 2.73 1.98 208 14 |12|segqen o 1 5.25 3.49 200 20
13} 1 2.73 1.98 274 14 |13]s % 1 5.25 3.49 049 20
14]e g fen 2 1 273 1.49 110 14
15| % 1 2.73 149% 028 14
W 3L: 1.3 Bhi HARE P v #ikc 3-36,565% 9 1219,054% % {17,510% ¢

2. o it FRNH R F 0 TR A AR R FEER R R 72 F (0=0.05)
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